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Quiz: Factoring Polynomials with Tiles

Question laof 12 ( 2 Using tiles to find the factors of a polynomial 91000 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1
Text Fill In Blank
2

false

(X+2)(x+3), (x+3)(x+2), (1x+2)(1x+3), (1x+3)(1x+2), (x+2)*(x+3),
(X+3)*(x+2), (Ix+2)*(1x+3), (Ix+3)*(1x+2), (X 1+4+2)(x"1+3),

(XM L43)(xN142), (IxM+2)(1xN143), (IxM14+3)(1xAN142), (XNM1+2)¥(xN1+3),
(XN14+3)*¥(xNM142), (IxN1+2)*(1xM143), (IxNM14+3)*(1xA~M1+2)

The tiles represent the polynomial below. What is its factorization? Enter each
factor as a polynomial in descending order.

X2 +5x+6

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(x+ 2)(x + 3).

Question ibof 12 ( 2 Using tiles to find the factors of a polynomial 287335 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1
Text Fill In Blank
2

false

(X+2)(x+4), (x+4)(x+2), (1x+2)(1x+4), (1x+4)(1x+2), (x+2)*(x+4),
(X+4)*(x+2), (1x+2)*(1x+4), (1x+4)*(1x+2), (X N1+2)(xN1+4),

(XM 1+4)(xN142), (IxM+2)(IxAN144), (IxNM1+H4)(1xN142), (XN 1+2)*¥(xN1+4),
(XN 1+4)*¥ (XM 1+2), (IxAM14+2)*(A1xN144), (IxXML+4)*(1xNM1+2)

The tiles represent the polynomial below. What is its factorization? Enter each
factor as a polynomial in descending order.

X2 +6x+8
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Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(x+ 2)(x + 4).

Question 1cof 12 ( 2 Using tiles to find the factors of a polynomial 287336 )

Maximum Attempts: 1

Question Type: Text Fill In Blank
Maximum Score: 2

Is Case Sensitive: false

(x+1)(x+7), (x+7)(x+1), (Ix+1)(1x+7), (1x+7)(1x+1), (x+1)*(x+7),
(X+7)*(x+1), (Ix+1)*(1x+7), (Ix+7)*(1x+1), (X 1+1)(x™1+7),

Correct Answer: (XAM1+7)(xA1+1), (IxA1+1)(IxA1+7), (IxA1+7)(1xA1+1), (XA 1+1)*(xA1+7),
(XM L+7)*¥(xNM+1), (IXAN1+1D)*¥(AxAN147), (IxML+7)*(1xNM1+1)
Question: The tiles represent the polynomial below. What is its factorization? Enter each

factor as a polynomial in descending order.

X2 +8x+7

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
x+ 1)(x+ 7).
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Question 2aof 12 ( 2 Using tiles to find the factors of a polynomial 91001 )
1
Text Fill In Blank
2
false

Is Case Sensitive:

Correct Answer:

Question:

(x+5)(x+1), (x+1)(x+5), (1x+5)(1x+1), (1x+1)(1x+5), (x+5)*(x+1),
(X+1)*(x+5), (Ix+5)*(1x+1), (Ix+1)*(1x+5), (X 1+5)(x~1+1),

(XM +1)(xN145), (IxAM+5)(1xAM1+1), (IxAM1+1)(1xA1+45), (xAM1+5)*¥(x~M1+1),
(XM L+1)*¥(xN1+5), (IXN145)*(1xAN141), (IxML+1)*(1xN1+5)

The tiles represent the polynomial below. What is its factorization? Enter each
factor as a polynomial in descending order.

X2 +6x+5

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(x +5)(x + 1).

Question 2b of 12 ( 2 Using tiles to find the factors of a polynomial 287337 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1
Text Fill In Blank
2

false

(x+6)(x+1), (x+1)(x+6), (1x+6)(1x+1), (1x+1)(1x+6), (x+6)*(x+1),
(X+1)*(x+6), (1x+6)*(1x+1), (Ix+1)*(1x+6), (X 1+6)(x 1+1),

(XM +1)(xN146), (IxM+6)(1xN1+1), (IxM1+1)(1xA146), (XNM1+6)*F(xN1+1),
(XNM1+H1)*¥(xN146), (IxNM1+6)*(1xNM14+1), (IxNM1+1)*(1xAN1+6)

The tiles represent the polynomial below. What is its factorization? Enter each
factor as a polynomial in descending order.

X2 +7x+6
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Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(x +6)(x + 1).

Question 2cof 12 ( 2 Using tiles to find the factors of a polynomial 287338 )

Maximum Attempts: 1

Question Type: Text Fill In Blank
Maximum Score: 2

Is Case Sensitive: false

(x+1)(x+4), (x+4)(x+1), (1x+1)(1x+4), (1x+4)(1x+1), (x+1)*(x+4),
(x+4)*(x+1), (Ix+1)*(1x+4), (1x+4)*(1x+1), (X 1+1)(x 1+4),

Correct Answer: (XAM144)(xA1+1), (IxA1+1)(1xA1+4), (IxA1+4)(1xA1+1), (XA 1+1)*(x~A1+4),
(XA 144)* (XA 1+1), (IXA1+1)*¥(1xA14+4), (IXA1+4)*(1x~14+1)
Question: The tiles represent the polynomial below. What is its factorization? Enter each

factor as a polynomial in descending order.

x2 +5x + 4

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(x+ 1)(x + 4).
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Question 3aof 12 ( 2 Using tiles to find the factors of a polynomial 91002 )
1
Text Fill In Blank
2
false

Is Case Sensitive:

Correct Answer:

Question:

(2x+2)(x+1), (x+1)(2x+2), (2x N 1+2)(xN1+1), (X M1+1)(2x"N1+2),
(2x+2)(1x+1), (Ix+1)(2x+2), (2x N 14+2)(1xM1+1), (IxM1+1)(2xN142),
(2x+2)*(x+1), (x+1)*(2x+2), (X N1+2)*(xM1+1), (X M1+1)*(2xN1+2),
(2x4+2)*(1x+1), (Ix+1)*(2x+2), (2x N 1+2)*(1x~ 1+1), (Ix M 1+1)*(2xN1+2),
2(x+1)72, 2(Ix+1)72, 2(xN14+1)72, 2(1xN141)72, (2)(x+1)72, (2)(1x+1)12,
Q)(XNL+1)12, (2)(AXANL+1Y)N2, 2¥(x+1)12, 2¥(Ix+1)1M2, 2¥(xN1+1)12,
2¥(IXAN1+1)72, (2)*(x+1)72, (2)*(Ix+1)72, (2)*(XN1+1)12, (2)*¥(IxA1+1)12,
2(x+1)(x+1), 2(1x+1)(1x+1), 2(x M 1+1)(xN1+1), 2(1xNM1+1)(1xN1+1),
(x+1)2(x+1), (Ix+1)2(1x+1), (x M 1+1)2(xM1+1), (IxM1+1)2(1xN14+1),
(x+1)(x+1)2, (Ix+1)(1x+1)2, (X 1+1)(x 14+1)2, (IxM1+1)(1xN1+1)2,
2*¥(Xx+1)(x+1), 2% (Ix+1)(1x+1), 2*¥(XM1+1)(x N 1+1), 2% (IxNM1+1)(1xN N 1+1),
(X+1)*2*(x+1), (Ix+1)*2*(1x+1), (XN1+1)*2*(xN1+1),
(IxN14+1)*2*(IxAN1+1), (x+1)(x+1)*2, (Ix+1)(1x+1)*2, (x N 1+1)(x 1+1)*2,
(IxM1+1)(IxM14+1)*2, (2)(x+1)(x+1), (2)(Ix+1)(1x+1), (2)(XM1+1)(x~M1+1),
(2)(IxNM14+1)(1xNM141), (x+1)(2)(x+1), (Ix+1)(2)(1x+1), (x M 1+1)(2)(xN1+1),
(IxM1+1)(2)(1xNM141), (x+1)(x+1)(2), (Ix+1)(1x+1)(2), (X M1+1)(xM1+1)(2),
(IxM1+1)(1xM141)(2), (2)*¥(x+1)(x+1), (2)*(1x+1)(1x+1),
)*(XNM+H1) (XML +1), (2)*(IXAL+H1)(IxN41), (x+H1)*(2)*(x+1),
(Ix+1)*(2)*(1x+1), (XNL+1)*¥(2)*(xN14+1), (IxAL1+1)*¥(2)*¥(1xN N 1+1),
(x+1)(x+1)*(2), (Ix+1)(Ix+1)*(2), (XM 1+1)(xM1+1)*(2),
(IxM14+1)(1x~M14+1)*(2)

The tiles represent the polynomial below. What is its factorization? Enter each
factor as a polynomial in descending order.

2x2 4+ 4x 4 2

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(2x + 2)(x + 1).
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Question 3bof 12 ( 2 Using tiles to find the factors of a polynomial 287339 )
1
Text Fill In Blank
2
false

Is Case Sensitive:

Correct Answer:

Question:

(Bx+3)(x+1), (x+1)(3x+3), BxM1+3)(xN1+1), (X M1+1)(3xN1+3),
(3x+3)(1x+1), (Ix+1)(3x+3), (3xN1+3)(1xNM1+1), (1xM14+1)(3xN1+3),
(3x+3)*(x+1), (x+1)*(3x+3), (Bx N 1+3)*(xM1+1), (X M1+1)*(3xN1+3),
(Bx+3)*(1x+1), (Ix+1)*(3x+3), (BxN1+3)*(1x~1+1), (Ix M 1+1)*(3xN1+3),
3(x+1)72, 3(1x+1)12, 3(xN14+1)72, 3(1xN1+1)72, (3)(x+1)72, (3)(1x+1)12,
(B)(XAL+1)72, (3)(IXAL+1)N2, 3*¥(X+1)1N2, 3*¥(Ix+1)12, 3*¥(xN1+1)12,
3¥(IxNM1+1)72, (3)*(x+1)72, (3)*¥(Ix+1)12, (3)*¥(XAL+1)1M2, (3)*(IxAM1+1)12,
3(x+1)(x+1), 3(1x+1)(1x+1), 3(xM1+1)(x~1+1), 3(Ix M1 +1)(1x~1+1),
(x+1)3(x+1), (Ix+1)3(1x+1), (x M1+1)3(x"1+1), (IxM1+1)3(1x M1 +1),
(x+1)(x+1)3, (Ix+1)(1x+1)3, (X 1+1)(x~14+1)3, (IxM1+1)(1xM1+1)3,
3*¥(x+1)(x+1), 3*¥(Ix+1)(1x+1), 3*(x N 1+1)(xM14+1), 3*¥(IxN1+1)(1xNM1+1),
(X+1)*3*(x+1), (Ix+1)*3*(1x+1), (X N1+1)*3*(xN1+1),
(IxNM14+1)*3*(IxA1+1), (x+1)(x+1)*3, (Ix+1)(1x+1)*3, (X N 1+1)(xN1+1)*3,
(IxM1+1)(IxM14+1)*3, (3)(x+1)(x+1), (3)(Ix+1)(1x+1), B)(XM1+1)(x~M1+1),
(B)(IxNM1+1)(1xNM14+1), (x+1)(3)(x+1), (Ix+1)(3)(1x+1), (x M1+1)(3)(xN1+1),
(IxM+1)(3)(1xNM14+1), (x+1)(x+1)(3), (Ix+1)(1x+1)(3), (X M1+1)(x M1+1)(3),
(IxM1+1)(1x~M141)(3), B)*(x+1)(x+1), (3)*(1x+1)(1x+1),
BY*(XNM+1)(xNL+1), (B)*(IxAL+1)(IxNM141), (x+1)*(3)*(x+1),
(Ix+1)*(3)*(1x+1), (XNL+1)*(3)*(xN1+1), (IxNL1+1)*¥(3)*¥(1xN N 1+1),
(x+1)(x+1)*(3), (Ix+1)(Ix+1)*(3), (X M1+1)(x 1+1)*(3),
(Ix~M14+1)(1x~M14+1)*(3)

The tiles represent the polynomial below. What is its factorization? Enter each
factor as a polynomial in descending order.

3x2 + 6x+ 3

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(3x + 3)(x + 1).
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Question 3cof 12 ( 2 Using tiles to find the factors of a polynomial 287340 )

Maximum

Attempts: 1

Question Type: Text Fill In Blank

Maximum

Score: 2

Is Case Sensitive: false

(2x+4)(x+2), (x+2)(2x+4), (2x 1+4)(x N 1+2), (x 14+2)(2x~1+4),
(2x+4)(1x+2), (1x+2)(2x+4), (2x N 14+4)(1xN14+2), (Ix N 1+2)(2xN1+4),
(2x+4)*(x+2), (x+2)*(2x+4), (X N1+4)*(xN1+2), (X N1+2)*(2xN1+4),
(2x4+4)*(1x+2), (Ix+2)*(2x+4), (2x N 1+4)*(1x"1+42), (Ix M 1+2)*(2xN1+4),
2(X+2)72, 2(1x+2)1"2, 2(xN14+2)172, 2(1xNM14+2)72, (2)(x+2)72, (2)(1x+2)12,
(Q)(XN1+2)72, (2)(AXANL+2)12, 2¥(x+2)N2, 2*¥(1x+2)M2, 2¥(xN1+2)12,
2X(AIxNL+2)72, (2)*(x+2)72, (2)*(1x+2)72, (2)*(xNM1+2)7M2, (2)*(1xNM1+42)72,
2(x+2)(x+2), 2(1x+2)(1x+2), 2(x 1+2)(x M1 +2), 2(1x M 1+2)(1x N1 +2),
(x+2)2(x+2), (1x+2)2(1x+2), (X 1+2)2(xN1+2), (1xM1+2)2(1xN14+2),
(x4+2)(x+2)2, (1x+2)(1x+2)2, (X 1+2)(xN142)2, (1xM14+2)(1x"N1+2)2,

Correct Answer: 2¥(X+2)(x+2), 2*¥(1x+2)(1x+2), 2¥(X N1 +2)(xN1+2), 2*¥(1xN1+2)(1x N1+2),

Question:

(X+2)*¥2*%(x+2), (1x+2)%2%(1x+2), (xA1+2)*¥2*(x~1+2),
(IXA1+2)¥2%(1xA1+2), (x+2)(X+2)*2, (1x+2)(1x+2)*2, (x A 1+2)(x 1+2)*2,
(XA 14+2)(1xA142)%2, (2)(x+2)(x+2), (2)(1x+2)(1x+2), (2)(x 1+2)(x 1+2),
(2)(IxAM1+2)(1xA1+2), (x+2)(2)(x+2), (1x+2)(2)(1x+2), (x 1+2)(2)(x 1+2),
(1xA1+2)(2)(1xA1+42), (x+2)(x+2)(2), (Ix+2)(1x+2)(2), (x 1+2)(x 1+2)(2),
(AIxA14+2)(1xA142)(2), (2)*(x+2)(x+2), (2)*(1x+2)(1x+2),
(2)*(x M 1+2)(xA1+2), (2)*(1xA1+2)(1x M 142), (x+2)*(2)*(x+2),
(Ix+2)*(2)*(1x+2), (XA 1+2)*(2)*¥(x~1+2), (1x A 1+2)*(2)*(1x~1+2),
(X+2)(x+2)*(2), (Ix+2)(1x+2)*(2), (x 1+2)(x 1+2)*(2),
(1xA1+2)(1xA1+2)*(2)

The tiles represent the polynomial below. What is its factorization? Enter each
factor as a polynomial in descending order.

2x2 + 8x + 8

Attempt

Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(2x + 4)(x + 2).
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Question 4a of 12 ( 2 Using tiles to find the factors of a polynomial 91003 )
1
Text Fill In Blank
2
false

Is Case Sensitive:

Correct Answer:

Question:

(2x+1)(2x+2), (2x+2)(2x+1), (2x+1)*(2x+2), (2x+2)*(2x+1),
(2xNM1+1)(2xN14+2), (2xM14+2)(2xM1+1), (2xN1+1)*(2xNM142),
(2xN14+2)*(2xM1+1), 2(2x+1)(x+1), 2(x+1)(2x+1), 2*¥(2x+1)*(x+1),
2*¥(x+1)*(2x+1), 2(2x+1)(1x+1), 2(1x+1)(2x+1), 2*(2x+1)*(1x+1),
2¥(Ix+1)*(2x+1), 2(2x M1 +1)(xM1+1), 2(x M1 +1)(2xNM1+1),
2¥(2XNL+H1)*¥ (XN L+1), 2¥ (XA L+H1)*(2xM1+1), 2(2xM1+1)(1x~M1+1),
2(IxNM1+1)(2xN14+1), 2% (2xNML+H1)*(1xA1+1), 2(IxN1+1)*(2xN1+41),
(2x+1)2(x+1), (x+1)2(2x+1), (2x+1)*2*(x+1), (x+1)*2*(2x+1),
(2x+1)2(1x+1), (1x+1)2(2x+1), (2x+1)*2*(1x+1), (1x+1)*2*(2x+1),
(2xMN1+1)2(xM1+1), (xM1+1)2(2xN1+1), (XM 1+1)*¥2*(xN1+1),
(XN1+H1)*¥2*%(2xM1+1), (2xM1+1)2(IxNM1+1), (IxNML+1)2(2xM1+1),
(XN L+H1)*2*(1xN1+1), (IxML+1)*¥2*¥(2xM1+1), (2x+1)(x+1)2, (x+1)(2x+1)2,
(2x+1)*(x+1)*¥2, (x+1)*(2x+1)*2, (2x+1)(1x+1)2, (1x+1)(2x+1)2,
(2x+1)*(1x+1)*2, (Ix+1)*(2x+1)*2, (2x N 1+1)(xM1+1)2, (x N 1+1)(2x~M1+1)2,
XM +HD)* (XN L+1)*2, (xM1+H1D)*(2xM1+1)*2, (2xM1+1)(1x~M1+1)2,
(XM +1)(2xMN+1)2, (2xM1+1)*(AIxANL+1)*2, (IxNML+1)*(2x~N1+1)*2,
(4x+2)(x+1), (x+1)(4x+2), (4x+2)*(x+1), (x+1)*(4x+2), (4x+2)(1x+1),
(I1x+1)(4x+2), (4x+2)*(1x+1), (I1x+1)*(4x+2), (4x N14+2)(xN1+1),
(XN14+1)(4xN142), (@XM LH2)¥(xNM1+1), (XM L+1)*(4xNM1+2),
(AxN1+2)(1xNM+1), (IxM1+1)(4xN1+2), (AxNM1+2)*(1xNM1+1),
(IxN14+1)*(4xN142)

The tiles represent the polynomial below. What is its factorization? Enter each
factor as a polynomial in descending order.

4x2 + 6x + 2

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(2x + 1)(2x + 2).
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Question 4b of 12 ( 2 Using tiles to find the factors of a polynomial 287341 )
Maximum Attempts: 1
Question Type: Text Fill In Blank
Maximum Score: 2
Is Case Sensitive: false

(3x+1)(2x+2), (2x+2)(3x+1), (3x+1)*(2x+2), (2x+2)*(3x+1),
(BxN1+1)(2xN1+2), (2xM14+2)(3xN1+41), (XN L+1)*(2xNM1+2),
(2xMN14+2)*(3xM1+1), 2(3x+1)(x+1), 2(x+1)(3x+1), 2*(3x+1)*(x+1),
2*(x+1)*(3x+1), 2(3x+1)(1x+1), 2(1x+1)(3x+1), 2*(3x+1)*(1x+1),
2¥(1x+1)*(3x+1), 2(3xM1+1)(x M 1+1), 2(xM1+1)(3x N 1+1),
2¥(3XAML+1)*¥(xN1+1), 2¥(XML+1)*(3xM1+1), 2(3xM1+1)(1x~M1+1),
2(IxNM1+1)(3xN1+1), 2¥(3xNML+H1)*(1xA1+1), 2(IxN1+1)*(3xN1+1),
. (3x+1)2(x+1), (x+1)2(3x+1), (3x+1)*2*(x+1), (x+1)*2*(3x+1),

Correct Answer: (3x+1)2(1x+1), (1x+1)2(3x+1), (3x+1)*2%(1x+1), (1x+1)*¥2*(3x+1),
(BxM1+1)2(x M1 +1), (xM1+1)2(3xN1+1), (BXAL+1)*¥2*¥(xN1+1),
(XA 1+1)*¥2%(3x~141), (3xA1+1)2(1xA1+1), (1xA141)2(3xA1+1),
(BxNM1+1)*2*(IxA1+1), (IxNM14+1)*2*%(3xAM1+1), (3x+1)(x+1)2, (x+1)(3x+1)2,
(Bx+1)*(x+1)*2, (x+1)*(3x+1)*2, (3x+1)(1x+1)2, (1x+1)(3x+1)2,
(Bx+1)*(1x+1)*2, (I1x+1)*(3x+1)*2, Bx M 1+1)(xM1+1)2, (xN1+1)(3xNM1+1)2,
(BXML+1)*(xNM1+1)*2, (xNML+1)*(3xA1+1)*2, (3xAM1+1)(1x~M1+1)2,
(1xAN141)(3xA1+1)2, (BXAL+1)¥(IxA1+1)*¥2, (IxA1+1)*(3xAN1+1)*2

Question: The tiles represent the polynomial below. What is its factorization? Enter each
factor as a polynomial in descending order.

6x2 + 8x + 2

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(3x + 1)(2x + 2).
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Question 4c of 12 ( 2 Using tiles to find the factors of a polynomial 287342 )
Maximum Attempts: 1
Question Type: Text Fill In Blank
Maximum Score: 2
Is Case Sensitive: false

(6x+2)(x+1), (x+1)(6x+2), (6x+2)*(x+1), (x+1)*(6x+2), (6x+2)(1x+1),
(Ix+1)(6x+2), (6x+2)*(1x+1), (1x+1)*(6x+2), (6xN1+2)(xN1+1),
(XM L+1)(6xM142), (6XMNL+2)*¥ (XM 14+1), (XA L+1)*(6xM1+2),
(6XM14+2)(1xNM1+1), (IxNM1+1)(6xM1+2), (6xM1+2)*(1x~M1+1),
(IxNM1+1)*(6xM142), (3x+1)(2x+2), (2x+2)(3x+1), (3x+1)*(2x+2),
(2x4+2)*(3x+1), (3x N 1+1)(2xM142), (2xM14+2)(3xN1+1), (3xM1+1)*(2xN1+2),
(2xN14+2)*(3xMN1+1), 2(3x+1)(x+1), 2(x+1)(3x+1), 2*(3x+1)*(x+1),
2¥(x+1)*(3x+1), 2(3x+1)(1x+1), 2(1x+1)(3x+1), 2*¥(3x+1)*(1x+1),
2*¥(1x+1)*(3x+1), 2(3x M1 +1)(xM14+1), 2(x M1 +1)(3xNM1+1),

] 2X(BxN1+1)*(xNL+1), 2*¥(xM1+1)*(3xM14+1), 2(3xN1+1)(IxA1+1),

Correct Answer: 2(1x~A1+1)(3xA1+1), 2¥(3xA1+1)*¥(1xA1+1), 2(1x A 1+1)*(3xA1+1),
(3x+1)2(x+1), (x+1)2(3x+1), (3x+1)*2*(x+1), (x+1)*2*(3x+1),
(3x+1)2(1x+1), (1x+1)2(3x+1), (Bx+1)*2*(1x+1), (1x+1)*2*(3x+1),
(3xM14+1)2(xM1+1), (xM14+1)2(3xM1+1), (BxNAL+1)*2*(xNM1+1),
(XM14+1)*¥2*(3xM14+1), (BxAM1+1)2(1xAM1+1), (IxM1+1)2(3xM1+1),
(BXAL1+1)*2*%(IxN1+41), (IxNL+1)*2*(3xM1+1), (Bx+1)(x+1)2, (x+1)(3x+1)2,
(Bx+1)*(x+1)*2, (x+1)*(3x+1)*2, (3x+1)(1x+1)2, (1x+1)(3x+1)2,
(3x+1)*¥(1x+1)*2, (Ix+1)*(3x+1)*¥2, (3x M 1+1)(x 1+1)2, (x 1+1)(3x 1+1)2,
(BXNML+1)*(xNM1+1)*2, (XNL+1)*(3xA1+1)*2, (3xAM1+1)(1x~M1+1)2,
(IxM14+1)(3xM14+1)2, (BxNM1+1)*¥(IxAM14+1)*2, (IxNM1+1)*(3xNM1+1)*2

Question: The tiles represent the polynomial below. What is its factorization? Enter each
factor as a polynomial in descending order.

6x2 4+ 8x + 2

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(6x + 2)(x + 1).
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Question 5aof 12 ( 3 Using tiles to find the factors of a polynomial 91004 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1
Text Fill In Blank
2

false

(x+7)(x+1), (x+1)(x+7), (1x+7)(1x+1), (Ix+1)(1x+7), (x+7)*(x+1),
(X+1)*(x+7), (Ix+7)*(1x+1), (Ix+1)*(1x+7), (X 1+7)(x 1+1),

(XM +H1D)(xN147), (IXM+7)(IxA141), (IxAM+H1D)(IxAN147), (XAML+7)F (A1 +1),
(XA L+L)*(xNM47), (IXAN1+7)F(IxA141), (IXML+H1)*(1xN1+7)

Use the tiles to find the factorization of the polynomial below. Enter each
factor as a polynomial in descending order.

X2 +8x+7

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(x+ 7)(x+1).

Question 5b of 12 ( 3 Using tiles to find the factors of a polynomial 289211 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

(X+2)(x+3), (x+3)(x+2), (1x+2)(1x+3), (1x+3)(1x+2), (X+2)*(x+3),
(X+3)*(x+2), (Ix+2)*(1x+3), (Ix+3)*(1x+2), (X N1+2)(x 1+3),
(XNM43)(xN14+2), (IxM4+2)(1xM+3), (IxM14H3)(IxNM1+2), (XML +2)*(xNM1+3),
(XA LH3)*¥(xNM1+2), (IxAN14+2)*¥(1xAN143), (IxML+H3)*(1xNM1+2)

Use the tiles to find the factorization of the polynomial below. Enter each
factor as a polynomial in descending order.

X2 +5x+6

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(x + 2)(x + 3).
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Question 5cof 12 ( 3 Using tiles to find the factors of a polynomial 289212 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1
Text Fill In Blank
2

false

(x+3)(x+3), (x+3)72, (1x+3)(1x+3), (1x+3)72, (x+3)*(x+3), (1x+3)*(1x+3),
(XN143)(XN1+3), (xM143)12, (IxNM143)(1xA1+3), (1xNM143)72,
(XALH3)*¥ (XM L+3), (XN143)72, (IXAL+H3)*¥(1xAN1L+3), (IxNM1+3)72

Use the tiles to find the factorization of the polynomial below. Enter each
factor as a polynomial in descending order.

X2 +6x+9

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(x + 3)(x + 3).

Question 6aof 12 ( 3 Using tiles to find the factors of a polynomial 91005 )

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

(x+2)(x+1), (x+1)(x+2), (1x+2)(1x+1), (Ix+1)(1x+2), (x+2)*(x+1),
(x+1)*(x+2), (Ix+2)*(1x+1), (Ix+1)*(1x+2), (x 1+2)(x"1+1),
(XM+1)(xNM142), (IxAM+2)(1xAM1+1), (IxAM+H1)(IxA142), (XAM1+2)*¥(xM1+1),
(XM L+HL)*¥(xNM+2), (IXA1+2)*¥(AxA1+1), (IXAML+H1)*(1xNM1+2)

Use the tiles to find the factorization of the polynomial below. Enter each
factor as a polynomial in descending order.

X2 +3x+2

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(x+ 2)(x + 1).
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Question 6b of

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

Page 13 of 21

12 ( 3 Using tiles to find the factors of a polynomial 292525 )

1
Text Fill In Blank
2

false

(x+1)(x+5), (x+5)(x+1), (1x+1)(1x+5), (1x+5)(1x+1), (x+1)*(x+5),
(X+5)*(x+1), (Ix+1)*(1x+5), (Ix+5)*(1x+1), (X 1+1)(x"1+5),

(XM +5)(xM14+1), (IxM+1)(IxA145), (IxAM1+5)(1xAM1+1), (XM 1+1)*¥(xAN1+5),
(XAL+H5)*¥(xM1+1), (IXN1+1)*(1xAN145), (IxML+H5)*(1x~M1+1)

Use the tiles to find the factorization of the polynomial below. Enter each
factor as a polynomial in descending order.

X2 +6x+5

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

(x+ 1)(x + 5).

The correct answer is:

Question 6c of 12 ( 3 Using tiles to find the factors of a polynomial 292526 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

(X+3)(x+4), (x+4)(x+3), (1x+3)(1x+4), (1x+4)(1x+3), (X+3)*(x+4),
(X+4)*(x+3), (1x+3)*(1x+4), (1x+4)*(1x+3), (X 1+3)(x 1+4),

(XM +4)(xN143), (IxNM43)(1xM1+4), (IxNM+4)(IxNM1+3), (XM L+3)*(xN1+4),
(XN 1+4)*¥ (XN 14+3), (IXA143)*¥(1xAN144), (IxML+H4)*(1xNM1+3)

Use the tiles to find the factorization of the polynomial below. Enter each
factor as a polynomial in descending order.

X2+ 7x + 12

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

(x + 3)(x + 4).

The correct answer is:
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Question 7a of 12 ( 3 Using tiles to find the factors of a polynomial 91006 )

Maximum Attempts: 1

Question Type: Text Fill In Blank

Maximum Score: 2

Is Case Sensitive: false
(2x+1)(2x+5), (2x+5)(2x+1), (2x+1)*(2x+5), (2x+5)*(2x+1),

Correct Answer: (2xN141)(2xN1+5), (2xM14+5)(2xM141), (2xN1+1)*(2xN1+5),
(2xN14+5)*(2x~M1+1)

Question: Use the tiles to find the factorization of the polynomial below. Enter each

factor as a polynomial in descending order.

4x2 + 12x + 5

Attempt

Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(2x + 1)(2x + 5).

Question 7b of 12 (3 using tiles to find the factors of a polynomial 292527 )

Maximum Attempts: 1

Question Type: Text Fill In Blank

Maximum Score: 2

Is Case Sensitive: false
(2x+1)(2x+3), (2x+3)(2x+1), (2x+1)*(2x+3), (2x+3)*(2x+1),

Correct Answer: (2xN14+1)(2xMN143), (2xM14+3)(2xM1+1), (2xMN1+1)*(2xN143),
(2xNM1+3)*(2xM1+1)

Question: Use the tiles to find the factorization of the polynomial below. Enter each
factor as a polynomial in descending order.
4x2 +8x+ 3

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:

(2x + 1)(2x + 3).
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Question 7c of 12 ( 3 Using tiles to find the factors of a polynomial 292528 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

(2x4+2)(2x+3), (2x+3)(2x+2), (2x+2)*(2x+3), (2x+3)*(2x+2),
(2xN142)(2xN1+3), (2xM143)(2xN142), (2xN1+2)*(2xMN1+3),
(2xN143)*(2xMN14+2)

Use the tiles to find the factorization of the polynomial below. Enter each
factor as a polynomial in descending order.

4x2 + 10x + 6

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(2x + 2)(2x + 3).

Question 8aof 12 ( 3 Using tiles to find the factors of a polynomial 91007 )

Maximum Attempts:

Question Type:
Maximum Score:
Is Case Sensitive:

1

Text Fill In Blank
2

false

(Bx+1)(x+1), (x+1)(3x+1), (Bx+1)*(x+1), (x+1)*(3x+1), (3x+1)(1x+1),
(Ix+1)(3x+1), (3x+1)*(1x+1), (1x+1)*(3x+1), (3x M 1+1)(x N1+1),
(xNM14+1)(3xM1+1), (BN L+1)*(xNM1+1), (XML +1)*(3xNM1+1),
(BxM1+1)(1xAM1+1), (IxM1+1)(3xM1+1), (XM L+1)*(1xNM1+1),
(1x~M14+1)*(3xM14+1)

Use the tiles to find the factorization of the polynomial below. Enter each
factor as a polynomial in descending order.

Correct Answer:

Question:

3x2 +4x + 1

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(3x + 1)(x + 1).
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Question 8b of 12 ( 3 Using tiles to find the factors of a polynomial 292529 )
Maximum Attempts: 1
Question Type: Text Fill In Blank
Maximum Score: 2
Is Case Sensitive: false

(Bx+1)(x+2), (x+2)(3x+1), (Bx+1)*(x+2), (x+2)*(3x+1), (3x+1)(1x+2),
(Ix+2)(3x+1), Bx+1)*(1x+2), (I1x+2)*(3x+1), (Bx N1+1)(x N1+2),

Correct Answer: (XM4+2)(3xM+1), (BxM+1D)*(xN+2), (xXAN1+2)*(3xM1+1),
(BXN1+1)(1xN1+2), (IxNM14+2)(3xAN141), (XM L+1)*(1xNM1+2),
(IXNML+2)*(3x7M1+1)

Question: Use the tiles to find the factorization of the polynomial below. Enter each

factor as a polynomial in descending order.

3x2 + 7x + 2

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(3x + 1)(x + 2).

Question 8cof 12 ( 3 Using tiles to find the factors of a polynomial 292530 )

Maximum Attempts: 1

Question Type: Text Fill In Blank
Maximum Score: 2

Is Case Sensitive: false

(Bx+1)(x+3), (x+3)(3x+1), (Bx+1)*(x+3), (x+3)*(3x+1), (3x+1)(1x+3),
(1x+3)(3x+1), (3x+1)*(1x+3), (1x+3)*(3x+1), (3x M1+1)(x 1+3),

Correct Answer: (XM43)(3xM+1), (BXML+1D)*(xN14+3), (XN 14+3)*(3xM1+1),
(BxM+1)(1xM1+3), (IxM14+3)(3xM1+1), (BxNM1+1)*(1xN1+3),
(IXNML+3)*(3xM1+1)

Question: Use the tiles to find the factorization of the polynomial below. Enter each

factor as a polynomial in descending order.

3x2 + 10x + 3

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(3x +1)(x + 3).

Question 9aof 12 ( 1 Recognizing the limitations to factoring polynomials using tiles

120462 )

Maximum Attempts: 1

Question Type: True-False

Maximum Score: 2

Question: When you factor with tiles, the height and width of the rectangle are the

factors of the polynomial.
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Global Incorrect Feedback

The correct answer is: True.

Question 9b of 12 (1 Recognizing the limitations to factoring polynomials using tiles

292531)

Maximum Attempts:
Question Type:
Maximum Score:

Question:
Choice| Feedback
True
B. |False

1
True-False
2

When you factor with tiles, the height and width of the rectangle are the
factors of the polynomial.

Global Incorrect Feedback

The correct answer is: True.

Question 9c¢ of 12 (1 Recognizing the limitations to factoring polynomials using tiles 292532

)

Maximum Attempts:
Question Type:
Maximum Score:

Question:
Choice| Feedback
True
B. |False

1
True-False
2

When you factor with tiles, the height and width of the rectangle are the
factors of the polynomial.

Global Incorrect Feedback

The correct answer is: True.

Question 10a of 12 (1 Recognizing the limitations to factoring polynomials using tiles

326609 )

Maximum Attempts:
Question Type:
Maximum Score:

Question:

Choice

Feedback

*A.| True

B. |False

C:\Documents and Settings\humbertoo\My Documents\Doom\Algebra [-B sem 2\2.2.4.mht

1
True-False
2

The tiles method should not be used to factor linear and quadratic
polynomials involving negative numbers.

Global Incorrect Feedback

The correct answer is: True.
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Question 10b of 12 ( 1 Recognizing the limitations to factoring polynomials using tiles

326610 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

Choice| Feedback

True

B. |False

1
True-False
2

The tiles method should not be used to factor linear and quadratic
polynomials involving negative numbers.

Global Incorrect Feedback

The correct answer is: True.

Question 10c of 12 ( 1 Recognizing the limitations to factoring polynomials using tiles

326611 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

Choice| Feedback

True

B. |False

1
True-False
2

The tiles method should not be used to factor linear and quadratic
polynomials involving negative numbers.

Global Incorrect Feedback

The correct answer is: True.

Question 11aof 12 ( 3 Using tiles to find the factorization of polynomials 262205 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

(x+1)(x+3), (x+3)(x+1), (Ix+1)(1x+3), (1x+3)(1x+1), (x+1)*(x+3),
(X+3)*(x+1), (Ix+1)*(1x+3), (Ix+3)*(1x+1), (X M1+1)(x 1+3),
(XNM4+3)(xNM1+1), (XM +1D)(IxAM+3), (IxM4H3)(IxNM1+1), (XML +1D)*(xNM1+3),
(XNM14+3)*¥(xNM14+1), (IxAM1+1)*(1xAM143), (IxAM1+3)*(1xA~M1+1)

Use the tiles to find the factorization of the polynomial below. Enter each
factor as a polynomial in descending order.

X2 +4x + 3

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

(x+ 1)(x + 3).

The correct answer is:

C:\Documents and Settings\humbertoo\My Documents\Doom\Algebra [-B sem 2\2.2.4.mht 6/26/2012



This version of Total HTML Converter is unregistered.

Preview

Page 19 of 21

Question 11bof 12 ( 3 Using tiles to find the factorization of polynomials 292535 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1
Text Fill In Blank
2

false

(x+6)(x+1), (x+1)(x+6), (1x+6)(1x+1), (1x+1)(1x+6), (x+6)*(x+1),
(X+1)*(x+6), (1x+6)*(1x+1), (Ix+1)*(1x+6), (X 1+6)(xN1+1),

(XM +1)(xN146), (IxM1+6)(1xN1+1), (IxAM1+1)(1xA1+46), (XNM1+6)*F(xN1+1),
(XM L+1)*(xN14+6), (IxN1+6)*¥(1xAN141), (IxML+1)*(1xN1+6)

Use the tiles to find the factorization of the polynomial below. Enter each
factor as a polynomial in descending order.

X2 +7x+6

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(x+6)(x+1).

Question 11cof 12 ( 3 Using tiles to find the factorization of polynomials 292536 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

(X+1)(x+4), (x+4)(x+1), (1x+1)(1x+4), (1x+4)(1x+1), (x+1)*(x+4),
(X+4)*(x+1), (Ix+1)*(1x+4), (Ix+4)*(1x+1), (X 1+1)(x"1+4),

(XM +4)(xN1+1), (IxM+1)(1xML+4), (IxM+4)(IxNM1+1), (XM L+1D)*(xN1+4),
(XN L+H4)*¥(xNML+1), (IXA1+1)*¥(AIxAN144), (IxNML+H4)*(1xNM1+1)

Use the tiles to find the factorization of the polynomial below. Enter each
factor as a polynomial in descending order.

x2 +5x + 4

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(x+ 1)(x + 4).
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Question 12a 0of 12 ( 3 Using tiles to find the factorization of polynomials 262207 )
1
Text Fill In Blank
2
false

Is Case Sensitive:

Correct Answer:

Question:

(2x+2)(x+3), (x+3)(2x+2), (2x+2)*(x+3), (x+3)*(2x+2), (2x+2)(1x+3),
(Ix+3)(2x+2), (2x+2)*(1x+3), (1x+3)*(2x+2), (2x N 1+2)(x"1+3),
(XN143)(2xN1+2), (2xM142)* (XN 1+3), (XN 1+3)*(2xMN14-2),
(2xM14+2)(IxN1+3), (IxM14+3)(2xM1+2), (2xM1+2)*¥(1x~M1+3),
(IxN143)*(2xN142)

Use the tiles to find the factorization of the polynomial below. Enter each
factor as a polynomial in descending order.

2x2 +8x + 6

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(2x + 2)(x + 3)

Question 12bof 12 ( 3 Using tiles to find the factorization of polynomials 292537 )

Maximum Attempts:
Question Type:
Maximum Score:

Is Case Sensitive:

Correct Answer:

Question:

1

Text Fill In Blank
2

false

(2x+4)(x+3), (x+3)(2x+4), (2x+4)*(x+3), (x+3)*(2x+4), (2x+4)(1x+3),
(1x+3)(2x+4), (2x+4)*(1x+3), (1x+3)*(2x+4), (2x 1+4)(xN1+3),

(XN 14+3)(2xM144), (2XM1+H4)*¥(xNM143), (XM L+3)*(2xM14+4),
(2xNM1+4)(1xNM14+3), (IxM14+3)(2x7M14+4), (2xNM1+4)*(1xN1+3),
(IXNL43)*(2xN1+4), (2x+6)(x+2), (x+2)(2x+6), (2x+6)*(x+2), (x+2)*(2x+6),
(2x+6)(1x+2), (1x+2)(2x+6), (2x+6)*(1x+2), (1x+2)*(2x+6),
(2XN146)(XN142), (XN 1+2)(2XN146), (2XNM1L+6)* (XN 142), (XN 14+2)*(2xN14-6),
(2XNM1+6)(1xN1+2), (IxNM14+2)(2x7M146), (2xN1+6)*(1xN1+2),
(1xN14+2)*(2x~1+6)

Use the tiles to find the factorization of the polynomial below. Enter each
factor as a polynomial in descending order.

2x2 + 10x + 12

Attempt| Incorrect Feedback

1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(2x + 4)(x + 3)
or (2x + 6)(x + 2)
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(2x+2)(x+4), (x+4)(2x+2), (2x+2)*(x+4), (x+4)*(2x+2), (2x+2)(1x+4),
(Ix+4)(2x+2), (2x+2)*(1x+4), (1x+4)*(2x+2), (2x N1+2)(x N1+4),

Correct Answer: (XM 44)(2xNM1+2), (2xML+2)*¥(xN1+4), (XN 1+H4)*(2xMN1+2),
(2XN142)(1xN1+4), (IxNM14+4)(2xN142), (2xN1L+2)*(1xN1+4),
(1xM14+4)*(2xMN1+2)

Question: Use the tiles to find the factorization of the polynomial below. Enter each

factor as a polynomial in descending order.

2x%2 + 10x + 8

Attempt| Incorrect Feedback
1st

Correct Feedback

Global Incorrect Feedback

The correct answer is:
(2x + 2)(x + 4)
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